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Read the following instructions carefully before you begin to answer the questions. This Booklet contains
questions both in English and Odia language except Section-B which contains Translation from Odia to
English in Part-I & English to Odia in Part-II. In case of discrepancy in meaning, the English version will
prevail.
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. This Booklet contains in all 120 objective type questions with

multiple choice answer comprising of the following:
Section-A: Mathematics-40 questions
Section-B: Part-I: Translation from Odia to English-20
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Section-C: General Knowledge on Excise Matters-40 questions

. All questions are compulsory and carry equal mark.
. Before answering any question, checkup the Booklet and ensure

that it contains 28 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you the bank OMR Answer Sheet

separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must
write the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

- A machine will read the coded information fumished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which

your Answer Sheet will not be evaluated and Zero mark will be
awarded.

. Answer must be given by completely blackening one of the four

circles/ovals representing the correct answer given on right side
of the Answer Sheet corresponding to the relevant question
number by using Black/Blue ball point pen only. Answers not
shown by black/blue ball point pen shall not be awarded any
mark.

- Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action.

- Read carefully the instructions of answering each question

before answering it.

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions
will be considered as using unfair means and action as deemed
proper will be taken against the violators.

9. ACIY g4l FRIGIIRS I° J6RURR AIF QAR

. 6716 ggR aeRceql 2 GIRIT oY 6THgR Lea I rgY eR 6
saled qal 91, @8 Q1 graIgl caIRaIE | 631d gFesm oig gas aaR
calRGgI

¥. ARIER IS ICTRIET BYAIR QAT 6R6Q | QRRTER Sl AR
Qell 6K SIS calnage, 9493 ferqs &° gagdel Gae cale
QERY ROF IS° AGAA Q/ALIPEG 6RR FRI/FIR ARG FRAIL FRC
Q161 VT @8F | 6QA0IER goa FEY REa ARITIA I, GIaY 6 6og AR
BUES 6RHF 19° 6@16IT g4 QQAER4 2T AT GOl @IE T2 |

8. BICIQ QERIGER e Q6RY FELYA ACEER G2G CAIFT IR A0F 8
1604 AT IE goa 6 A7 @asIe adea FaIAIRYS! G20l Tow &
2ad 29, G I FIF gAIR @RS |

9. 1% GeaaIeny Cgdaise GAC ARFTaT , ARYEl AT QERaQ
cRUIAR fAlAIRAIRe GIF e R4 IS RIS QAITR |

9. ERULR el aiden gel age 94 Trsuie 2gad g@/?a@égﬁem
SR/ VTR ARANG AR FIal FFC LRI AR @7 aer Fag |
RR/G1R R AL AR gIsl @IKIRGYSI 06@ AR 6Fld AIF G2Ide QIF
I

. 9919l 2R/6RI001 S1GQ! g9Q 2IAds QeRdg Ja1Eeg 29I9a @
REAIBER AAE ARAIGRILH FSG1E 626 |

¢. 99Q CaQIGER GECHR g4Q QOR gaIe GeTsIanT AQILRICR 9RF |

? 0. 646G &G B ARALRICR AIBER GHGIERa 0an G2F | 67607 g9 928 @

10. Answer the questions as quickly and carefully as you can. Some
questiops may be easy a_nd others difficult. Don’t spend too 2IG 6REOR 0 caInalea | 6alad geea AR AR FIFAG QIE |
much time on any question. . g JE ~ ot a

11. No Rough work has to be done on the OMR Answer Sheet.  R.B(IIR QQRTRER AT Rl Q6 QIL | dAgeIea QI @lFdiR HInSISl
Spaiei for rough work has been provided in the Question FAARS |
Booklet. = =~

12. You must not carry into the examination hall/ room any book, R 9.96Q4 A ME1G 6wl6d OF, FNA/AAGERSI FIGIR, CCISIRR 6CTIR T4

63916@ Qaead AT AR1El TR/ERI0N Reag 6aa AIFER QIF |
QQCAI8 Feaalen1n 6HEdE 2GAUIRAER YRIIRER 1§ 2@
QQIG ASRIFEIIR F6a0q! FAKIQ 1 CRIGRIRTE FQRER CEUTE HIY

UGS @RISR |

DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO

1

Page 1 of 28




Page 2 of 28



SECTION-A
(MATHMATICS)

Read the following questions carefully. Answer each of them by choosing the correct one out
four multiple answers given under each question as A), B), C) & D) and blackening the
appropriate circle/oval given on the right side of the OMR Answer Sheet by black ball point

pen only. Correct answer to each question carries ¥ mark.

QIRGe g49ee 99 ATe dLPICAART AUQ J6RiR g9a Rg6a @), §), ) 9e° @) af
QuUQIRYS GG QRRAINTR A0@ ARAE AR BN AAATIR P12 2SI A0 /AR
6RER AR CRANE ARFER AR 6RIRA QAR TAF] Y6 gga A0S QAR ©/9 I

Quide |

1. A Carpenter got 35 % profit by selling a table at Rs.1350/-. How much did the table cost
him?
A)1300  B) 1200 C) 1150 D) 1000

@6 6L 6TNTY 659M eNBo THIEQ GG @Q N6 YEIO AN AN | 69FRTER BIg
6060 OF P AGYMI |

@) fNoo Gl) €900 Q) eeB8oO @) Rooo
2.Conversion of 0.5% in decimal is?

A)0.5%10 B)5/100 C) 0.005 D) 0.05

0.8%9 @E0R6Q IALIFEN 6R6S 629 ?

@) 0.8x ko ¢)8/Roo ¢)o.o008 @)o.o8

3.Conversion of 0.25 to % is?
A)925%  B)0.025%  C)2.5% D) 25%
0.9 8% Q90R6Q JAFRAFIER 6QES 629 ?

@) C.98% @) 0.098% @)9.8% Q) 98%

4. By selling a bucket for Rs.92, a merchant loses 8% on his outlay. Find the percentage profit
on his outlay when he sells the same for Rs.110.

A) 10% B) 4% C) 3% D) 5%

6AIN QIRTY 9 TWIER AR F6E MRAILT GIR (R AU6R [P [/E A62 | AF 64
Qg ® R 0 OFIEQ YRR 6R6C OIS GIf NN 62IR2IS |

@) R0% ) ¥% Q) N% Q) 8%
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5.1f a shopkeeper were to sell a bag for Rs. 200, he would lose 20%. What must he sell it for
to gain 10%?

A) 225 B) 220 C) 275 D) 300

P68 6QARIFT 61T QUITQ A& 9 00 FFIEQ IR FIQ 9 © YEIE VG 62! | R0 JTS
AR FAQG CIF 6R6S TFIEQ TFA FAQIG 699 |

@) 998 §) 990 Q) 998 @) Moo

6.The cost price of 12 articles is equal to the selling price of 10 articles, profit percentage is?
A) 25% B)33.33% (C)16.67% D) 20%
€9 § GRaQ AR € o GRTQ FaRY AFC AR 626R, NVLIA 6166 LIS

}) 98% <) 9N, NN% ) €9.99% Q) 90%

7.1f a sum is invested in a year what will be the compound interest (C.1.) and the simple
interest (S.1.)?

A) S.I>CI B) C.I>S.1 C) No interest in the first year D) C.I.=S.1
6915~ 9F 9B R6QIG A6 9G9E Q(B.9.) M&° AQR GI(A.Y.) 696E 6297
Q) A4.9.> 9.9 &) 0.9-> 9.9, q) gen e QI 98 Q) 9.9.= A.Q-

8.Salaries of A, B and C are in the ratio 1:2:3. Salary of B and C together is Rs.60000. By
what percent is salary of C more than that of A?

A) 200 B) 300 C) 600 D) 100

RIBAFTAMRARAAAID € - 9 : N 1Y B9 & Q@0 {8l Yoooo GG 626, @ QA QAL
0IQ o' Q QN 6R6E FGHIo &Y 26T |

@) 900 Gl) Moo d) Yoo @) Qoo

9. The length and breadth of a square are increased by 40% and 30% respectively. The area of
the resulting rectangle exceeds the area of the square by?

A) 62% B) 42% C) 82% D) None of these

691G\ Q9 699Q 67A B 99 YaIFET Yo B No gede 9f @alaml | Q& 621N IS
6890 6TQTR Q4 6AGA EATTROIQ AR 629 ?

R) 62% ) 42% ql) 82% Q) AIeT FRIQ 6NEAT g6L
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10.The length of a rectangle is increased by 60%. By what percent would its width have to be
decreased to maintain the same area?

A)37 % B) 60% C) 75% D) None of these

691N TIYE 69 MY Y0 JEHIO 98 QAUIRI | NLIA JY 6960 JOIe RITEIER CISTR

ATRIRE @] ?
Q@) N9% §) 90% q) 98% Q) AIeE FRIQ 6RNETE gL
11.13937.869 + 199.54 + 15% of 201=?

A) 150 B) 80 C) 90 D) 100

RANCMO.IMIC+RCC.8Y +R8% of 9o00="?

@) 8o g)ro Q) Co @) Roo

12. If three fifth of a number is 40 more than 40% of the same number. What is that number?
A) 100 B) 150 C) 200 D) 400
616 9@ QAR OF 02l 698 A°HIR ¥ 0% 0IQ ¥o TS | 692 A°HHIT 6960 ?
@) oo o) €8o Q) 900 W) Yoo
13. If x% of y is the same as 4/5 of 80, the value of xy is?

A) 640 B) 400 C) 320 D) None

Y @ X% Q@ [ oQ ¥/8 926 Q9IR, XY Q (Rl 6966 ?

]) 9¥o ¢) ¥oo Q) M9o Q) 6x163G geL
14.45% of 7 +30% of 90 = 30% of 210.

A) 80 B) 120 C) 60 D) 90
?7A88% + CoQNoY= 900 Q No%

@)ro ®) e90 Q) Do @) Co
15. " A number, on subtracting 15 from it, reduces to its 80%. What is 40% of that number?

A) 45 B) 30 C) 60 D) 90

6QlET 691G QA°HIQ © 8 TEAUGT FEM GIL GIQ 0% Q LI AR | 64T LYY Q ¥ 0%
6R60 ?

Q) ¥ &) Mo Q) oo Q) Qo
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16. A student has to secure 40% marks to pass the examination. He gets 178 marks and fails
by 22 marks. The maximum marks are?

A) 500 B) 800 C) 200 D) 1000

@68 8169 JAINIER AIY KRG ¥o% IR AYRIG 629 162 LOrAIF AIRM 99° 99 AIQ
QIR 6TR 6IRAAR! | ATRYR TP 6R6S ?

@) oo &) roo @) 900 Q) Rooo

17. 300 grams of a solution has 40% sugar in it. How much sugar should be added to make it 50% in
the solution?

A) 10 gms B) 80 gms C) 40 gms D) 60 gms

fNoo GIFl @ 6AITN QREI6Q B 0% & AT | 62261 2R 6266 TF TR I8 IETA
8009 629Q ?

Q) eogifl W) rogiel @) ¥ogicl Q) Dol

18. What shall be the percentage of increase in the surface area of a cube when each side is
doubled?

A) 25% B) 50% C) 150% D) 300%
6915 QIAQ g6SHR AIdq TISIC F6M, CIA 6ASTRER 6060 JGIS 98 629 |
Q) 98% W) 8o% Q) €80% Q) MNoo%

19. A reduction of 25% in the price of eggs will enable one to buy 4 dozen more eggs for Rs.
96. What is the price per dozen?

A)Rs.6  B)Rs.8 C)Rs.8.50 D)Rs.9

Sl QA6R 9 8% USIRELEM WEEl ¢ TRIEA ¥ @R A A FUALAAQ Qe 4 | g6t
PR UL QA 6R6S ?

Qoo  S)rew  Q)r.8ooxl Q) ¢ o

20. Two buses travel to a place at 45 kmph and 60 kmph respectively. If the second bus takes
5% hours less than the first for the same journey, what is the length of the journey?

A)990km B)%45km C)990km D) 1350 km

QRE Q4 6aIT QG LRUIFEA Y8 FF1 9e° 9o FF 6QT6Q QI AIRAAR | AAIS AIQARX
Qe Fo19 QAT AT QA0IQ 8.8 AU KAACILL &, LIGIA QG 686 ?

@) CCo & H) Y8 @A Q) CCo @il @) eMNso &
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21. A train moves with a speed of 108 kmph. What is its speed in metres per second?
A)38.8 B) 18 C) 30 D) 10.8

60ITN 69% Q& gG ol A7 6Q606Q FERER | ILIQ 6A6RE & 694 6@60 Foq ?
@) ar.r 6l) eI Q) Mo @) Co.I"
22. |f today is Tuesday, after 62 days it will be:
A) Wednesday B) Monday C) Thursday D) Sunday
2P AT ATRIIQ P4, 99 TRUACQ DI 621]-
@) QYR §l) 6AINIRQ Q) YRRIA g) QEQIQ
23. Find out the wrong number in the series: 3, 8, 15, 24, 34, 48 & 63

A) 15 B) 24 C) 34 D) 48

Q@ M, T, €8, 9%, MY, ¥ I&° 9N ARIQ 689 AWMIT QR 520 @9 |

Q) e8 @) 9% Q) N Q) ¥r

24. The material of a cone is converted into the shape of a cylinder of equal radius. If the
height of the cylinder is 6 cm, the height of the cone was:

A)2 cm B) 6 cm C) 18 cm D) 36 cm

6GlITN 6RIFQ UGG CARIR IR AT 6615 TRAR 2IFIAG AALER AUAR! | AG
ARQQQ ARG 9 627 99, 6RIFA ARG YR

@) 9620 d)vead Q) eredd @) N9 6ad

25. What least value must be assigned to * so that the number 451 * 603 is exactly divisible
by 11?

A)9 B) 7 0)s D)2
* Q 69Q gaY L0 699IQ 629 LTI TRER ¥RL*IoM A § € ¢ Al OR FaI 6297
Q) ¢ o) 9 q) 8 Q) 9
26. If the height of a cone is doubled, then its volume is increased by:
A) 100% B) 200% C) 300% D) 400%

695N Q190 QP! AT FYIE RAULIN, 666Q 1R YATR Q& 624

@) Qoo ¢) 900% Q) Mo oh Q) ¥oo%
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27. If the ratio of volumes of two spheres is 1:8, then the ratio of their surface area is :
A)1:2 B) 1:4 C) 1:8 D) 1:16
QRG QA ARTRA AQUIS T R 99, 6AIRE 6FLTRA AQUIE 629

Q) €:9 ) €% Q) e:r Q) 0:e9

28. If the surface area of two spheres are in the ratio of 4:25, then the ratio of their volume is:
A)4:25 B)254 C) 125:8 D) 8:125
93 9RG 98 QA 6ALTRR AR ¥:9 8 94, 666Q 67T ARTRA AQUIC 624!

@) ¥:98 §) 98:% Q) eI& T Q)r:k98
29. A cube of side 6 cm is cut in to a number of cubes of side 2 cm each. The number of cubes

will be:
A)6 B) 9 C) 12 D) 27
9 627 QI g9 691G QIAg 9 624 QI QI 6REVIT IS AR KT FUGR | GYL
Jeeq AWyl 6aQ:
Q)9 g1 ¢ Q) e9 Q) 99
30. The remainder obtained when 231 is divided by 5 is:

A)2 B)3 C) 4 D)1

991f @ 8 YIQl VWG REM, WIGCIY 6L

@) 9 ) N q) ¥ Q) e

31. The numbers which are formed by writing one digit 6 times (e.g1 11111, 444444 etc.) are
always divisible by:

A) all of these B) I3 0) 11 D)7

691G 2Fg 9 2Q 6RY 98 62RQN A (F2UI-R R R R 0 R ¥ AW W WY QeIG)AFER6R
6RAA°H FIQU FRUGY?

Q) NG ANY Q°H &) e Q) e® Q) 9

32. In a division the divisor is 10 times the quotient and 5 times the remainder. If the
remainder is 46, the dividend is:

A) 4236 B) 4306 C) 4336 D) 5336
6AITN QASIER AFR AFTRA € 0 gl NQ° QIIEIIQ & G&l | AT QUVEAY ¥ 9, Qe
0LQ:

Q) BINY @) ¥No Q) ¥NND Q) 8NN
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33. In a family, the father took 1/4 of a cake, which is 3 times as much as each of the others
had. The total number of family member is:

A3 B)7 C) 10 D) 12

6QIGN AARIREQ QIFI 691G~ TOIQ /¥ HIRER, IAT JERUR ARANER HIAAQ N G&l |
AGRIAQ 69116 AQQAY A°FYI 62Q:

Q) qN %1)’9 q) eo Q) 09

34. A man distributed Rs.100 equally among his friends. If there had been 5 more friends,
each would have received Re.1 less. How many friends had he?

A) 20 B) 25 C) 30 D) 35

@641 6AIR GIR AQTNAFT FRIER € 00 FFIY AFIR AINEA FIFEIR | GIQ AT 8 F& 9 AR
2I2IES F6GIER € S 6RIN QF AIRLIES | G0 6REERE 9F S6M ?

@) 90 G) 98 Q) Mo @) N8
35. What is the odd numeral pair/group in the following?

A)12-144 B)13-156  C)15-180 D) 16-176
QY69 R 6916 AWl AIRFFIRIQ TR 691 69GG ?

@) 0 9-0¥Y¥ ¢) 0MN-€89 @) R8-RM0 @) €9-R9Y

36. Reena is twice as old as Sunita. Three years ago, she was three times as old as Sunita.
How old is Reena now?

A) 6 years B) 12 years C) 8 years D) 7 years

QINIR YRR QU FAGIR 9@ G4l | 6F Qg6 IR 99A IRGIA §F gé Rl | AR
QAR QO 6R66 ?

@)ved evIqd Q)red Q) © Q8
37. If a sum of money at simple interest doubles in 6 years, it will become 4 times in:

A) 12 years B) 14 years C) 18 years D) 16 years

9Q @8 OF1 0P QuER 9 QTR FFIE g4, N2l Q1A &l 629

Q) €9 QF6Q ¢) ¥ Qdea @) eI QF6q @) €9 QIR
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38. A man can row upstream at 8 kmph and downstream at 13 kmph. The speed of the stream
is:

A) 5 km/hr B) 2.5 kmv/hr C) 10.5 km/hr D) 4.2 km/hr

@64 6AIR 63100 FAAIG TAEQ AWYS T §F ¥e° 69169 AGYR TUEQ AWUYS N @A
6906Q G&Fl PRIRVER | 6JIFR 696 6R6S ?

Q) AUYS 8 @F ) QUgS 9.8 @A Q) AWGS 0.8 & Q) AVYS ¥.9 A
39. The sum of two numbers is 15 and the sum of their squares is 113. The numbers are:

A)4,11  B)5,10 C)6,9 D) 7,8
Q2G QY Q CANTR €8 I&° CAFIRT QUQ CATTR € M | AFUICUEH 626M:

Q)% 82 ¢)8 o @), ¢ Q)o,r

40. The product of two numbers is 120 and the sum of their squares is 289. The sum of the
two numbers is:

A) 20 B) 23 C) 169 D) none of these

Q@@ A°GHl @ GEITR R 9 0 IQ° 6L QG Q 6AGITR 9T ¢ | QoG Q@@Q ST R
6LQ:

@) 90 &) 9N Q) e9¢ Q) AT FRIQ 6RISIAE Q6%

SECTION-B
Translation & Retranslation

PART-I. Read the following sentences in Odia carefully and select their correct translation
into English from the four answers given under each question as A, B, C & D.

FARYe 682 ANMYER IRALRIER ARG IS° F661R JESER A, B, C 3 D Q196Q SRS
SI6QIT AQQ FIQ 699F 64AIRE A0R A°AIFT AGIQ G2l AR FAF |

41.60RIN QITIF VA ALFARIQ 2SS 6QYY |

A) We saw a fleet of sheep reach the harbor.

B) We see a fleet of ship reaching the harbor.

C) We saw a fleet of ships reaching the harbor.
D) We had seen a fleet of ships reach the harbor.

42.99% 914 9G26R ARVIER 9QBT |

A) Buffalos graze in the field of green grass.
B) Baffaloes are grazing in the green field grass.
C) Baffaloes were grazing in the green grass field.

D) Buffaloes are grazing in the field of green grass.
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43.¢ cA609Q QI6E 64 GIg AR AN QIZ |

A) | know she doesn’t love her.

B) As far as | know she is not loving her.

C) So far as | know she doesn’t love him.

D) What | understand she doesn’t love him.

44. 2106 4 ¢ FFAIQRIT |

A) | am not recognizing who you are.
B) | don’t know who are you?

C) | am not knowing your identity.
D) | can’t recognize who you are.

45. 6QI5N FIRFARIAT JIAIQ 6FINARG 7 SISTUT |

A) | am liking to construct attractive building.
B) | am wanting to build a pleasant building.
C) | desire to build a magnificent mansion.

D) I wish to build magnificent building.

46.93 67166 6959Iq 2ITNICIRY ¢ 671N AFHIRR OR QARYR |

A) | did my exercise when Hari came to see me.

B) | finished my exercise when Hari had come to see me.
C) Hari had come to see me when | finished my exercises.
D) | had done my exercises when Hari came to see me.

47. 9l YN 2R JoQ 64 HIQY 6QICTR FAARER |

A) She had finished cooking food before her husband arrived.

B) Before her husband had arrived she finished cooking.

C) She finished cooking food when her husband arrived.

D) She had finished cooking food before her husband had arrived.

48. odiag 2aa 6291941 QERAIEE SR 2Ia @8

A) The farmers start cultivation as soon as the rainy season begins.
B) The farmers started cultivation at the onset of the rainy season.
C) Farmers begins cultivation when the rainy season start.

D) Farmer begin cultivation as the rainy season start.

49. 9RAFIER AQ YR AILAT B ARG |

A) Young men were brave and laborious in all ages.

B) Young people are courageous and hardworking in every ages.
C) The young people are bold and laborious in all times.

D) The young are brave and industrious in all ages.

50. 971 QIR ARYIEQ K€ SN ?

A) What your brother eat in the evening?

B) What do your brother eat in the evening?
C) What does your brother eat in the evening?
D) What your brother eat in the evening?
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51. QUG AGS @8 FUIF FRUAI |

A) Criminals get punished properly.

B) Guilties are penalize properly.

C) The criminals were punished sufficiently.
D) The criminal are punished rightly.

52. QIgI6Q AR FRIRIL QREAIRT 060 ABIER |

A) Going on the road, the very old man fell on the ground.

B) When he was walking on the road, the thin old man fell down.
C) As he was going on the road, the very old man fell down.

D) The feeble old man fell down while going on the road.

53 zi6e1 a6 c28gd AIE ABRUNER AT 62R |

A) Hardly have we reached home when it rained heavily.
B) It rained heavily when we had reached home.

C) Hardly did we reach home when it rained cats and dogs.

D) Hardly did we reached home than it rained heavily.

54. a1l aIsi6a 99Q URYER, ¢ 69ITN FRIRSR QUICRA B @03 |

A) If I had plenty of wealth, | build an impressive palace.

B) If I have plenty of riches | can build an impressive palace.
C) If I had plenty of wealth, | must build an attractive palace.
D) If | owned plenty of wealth | would build an impressive palace.

55.G3gal aIFRI, 626R 9L ARIAQ AR 62IR @ AT |

A) Darkness disappeared and the moon had not vanished.
B) The day broke, but the moon had not disappeared.

C) The sky reddened, but the moon was not going.

D) The night ended, but the moon still visible.

56. (] @g@a QIQuIQ6a g6adq F0RIR 6adRI

A) | met Suresh yesterday after a long interval.

B) I had met Suresh yesterday after a long interval.
C) I meet Suresh yesterday a long interval after.

D) I have met Suresh yesterday after a long interval.

57 21601 g6¢ glaAFiQ 64411 0IQ QIR 62IR2IG!

A) We are both being friends since our Primary School days.
B) We have been friends since our Primary School days.
C) We both were friends since our Primary School days.
D) We had been both friends from our Primary School days.

58. 21661 @6€ A99q 608 @2 §(d 62q |

A) We are very glad to meet each other.

B) We were very glad to meet each other.

C) We had been very glad meeting each other.
D) We are pleased to meet each other.
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59. 6Q (166 QTR 64 64 NAG1A EARIRER ATAQ VIER TIPS QAR

60.

A) He had told me that he was working as officer in Indians Railway.
B) He had told me that he worked as a officer in indian railways.

C) He told me that he had worked as an officer in Indian Railway.

D) He told me that he was working as an officer in Indian Railway.

661 6a16d § AR V8 GIAG AR A6LQR FQRII

A) None of my friends are applying for this job.
B) None of my friends were applying for this job.
C) None of my friend is applying to this job.

D) None of my friends is applying for this job.

PART-II. Read the following sentences in English carefully and select their correct translation
into Odia from among the four answers given under each question as A, B, C & D.

FARYS QI AINGER AQALRIER ARG IS° Y6SYR g4o6R A, B, C 8 D QI96a FRUIAIQYS!

QI6QIT 20Q FRIQ 6296 6Qflew A0R 6E2 2GR CI2 ARG |

61. What a useless man I am!

A) @ 2Qeley AGiEEN ¢?

B) ¢] 6960 Gacie 8GN |

C) 2Iel 6268 AR ASEGH ¢!
D) 6266 2A2QRIR1 FASGN ¢!

62. Here comes the bus scheduled to leave for Kolkata at 6.30AM.

A) gaIg @ 990 FRc6R ARl 211G 29l @A IaG 2GR @7

B) g=Ig @ .90 {iAcex aRae! AIgl @AQIaIR ARIRe 9T IR AR |
C) @ @AG &I6Q Q° QUL & 9.910 FRGER ARG QI |

D) @QF 2IdaIRdE AI21R FEI0e 912 & 9.0 Hacen eRas 928S |

63. On the top of that hill lives a hermit.

A) @ DIRIPRAUER 671G~ A Q@S |

B) V& 0G0Q06Q @64 g AQ @7 983 |
C) 69% JIRIRIYR6R K68 ARIA! QRS ?
D) 628 QIZIea1S6a f64 AQUIA1 QIAGT |

64.They while away their evenings with games and gossips.

A) 697167 GlE ARl AAKAQ 6SIR IQ° JAAUER ARGIE |
B) ¢I& Q018 ARYIGER 6917 IQ° JIUAUER 6QA7N6R RIFES |
C) 627168 Gle ANl AANA] 6HRGRER RITEQ6R |

D) 627160 AR ATAER 6YR NQ° RAQABER AIGAES |
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65.Peace hath her victory no less renowned than war.

A) 98 G201 JI8a 6% 69T EIea @1 Q6% |
B) 98 &9 SIZQ KL0IQ @71 HIG 26S?

C) g® KC0IQ SIZQ K4 K7 IHIS g6< |

D) 4lIZQ @90IQ &R 8< 2P SIS 26S' |

66.Monks and nuns live in separate monasteries.

A) 91 SUGR1 CI6R FER IRAER QLB |

B) 491 ¥Q° 9ddR1 (1168 @ @R A1506Q 0g8s |

C) Qa4IA1 8 AITRIFER Io2 AOFINEER QD 893 |
D) 041 a3Q1 AI6R 902 N6 QI /9E |

67. Assam has one of the largest tea gardens in the world.

A) 2IQIFER 9R2IR AP G TSI 213 |

B) 2IQAI€1 629Q RS O TS 26S' |

C) AANER AR A6FIP S RTINS 2T |

D) 2IQIF 1 @59 AR AGQLS Gl QAGIAIGE FRIER ARG |

68.He always stood by his friends through thick and thin.

A) S QYAIRE G066 6Q AL 02l g28 |
B) @ClIew 99 Q89I6R 6 AL D2 62R2/6R!
C) Ol QYAIeE Q89 QER6R 62 AR AIRIAY RQIER |
Q) QQAIRE QY 9ER6Q 61 AT B2l 62A26R ?
69. Are they leaving for the USA by the next flight?

A) 6291168 IR AGISER IGFINR ARRT |

B) 62716 QBRI QLIE6Q ACAAR TR 287

C) 627168 9@l JAILAIGIER AT AIRSE &7

D) 6Q€16R 0QRE! ARIEER ACTRARIQ 6T8E &2
70.What are they looking for?

A) 6271167 QI2IQ 65IgeRS!
B) 6Q¢l6R QIelg 65lIgas?
C) 6Q716Q @4l 681Iges |
D) 64716 @4l 63IgRE?

71.The early bird catches the warm.

A) A9l 981 6! IR LIAN K6R |
B) cEmal 91 IRl TIAm K6 |

C) AAUGEN A I FRIQ 2GR |
D) A2Ige6l &l @II6Q QeI 8 |
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72.Unauthorized wine shops have to be closed.

A) 6Q2URR F1REQRIRAQ RIS |

B) 297158218 AQ6QIRINAQ Q@ ARIg 629 |
C) 622URR FEQRIFAQ LRALIRE |

D) 299899 AR6QRIRAq Q@R |

73. Excise revenue constitutes a lion’s share of the state income.

A) 2QRIQ1 219 QY AIFIQ J2RUS 26E |

B) 299101 2R QIRY QNI Y214 2U6e?

C) 299191 QUIFY UM QUFIQ FERIG! 266!

D) QIs4Q 2Ig 2RRIA1 QLA ITAUS 929 Q68 |

74.Prohibition is a boon for human and social health but bane for the state resources.

A) GEIFQIQE AR NQ° ACITR FIAIAIR IR AR FF QIR AR IR A |
B) G4IQQd OGN NQ° AFIGR AR AFIFIQ FF QIR FRIE IR QR |

C) FEIGE Ag8Y ¥e° AFIRR AR FOIB FRAT NQ° QIR ATE e AARI |
D) REIF6a1M AgaY ¥e° AR IR 2ARGIT & QUKY AR IR 9@ QIR |

75.0rders have been passed to sell country liquor in glass bottles in Odisha.

A) B2I6Q T4 F1Q QIP 6AGNER FGUIR LIRS YRG! |

B) Q6@41 1@ QIO QA6 AGUIR BEHIER 26D GAAR2E |

C) 6G4I6Q 6241 12 QIQ 6QIOAEA FFAIR 21694 FAUARIF |

D) 62411 €12 Q19 6919R6Q FGUIR 354l QIR 2I6ad 60aaS |
76.Export of ‘mohua liquor” shall be temporarily banned to avoid shortage.

A) QR QA FARIG A1 1@ AR A VAR 9L FAUTR |

B) 2QIQ1 9@ QAQIQ F1gA F1Q ANRIRT 78 ATLAIR 9 FQULRE |
C) 2QIQ1 Qa @RQIQ AIgR (1L QYIH ANHR KIS F6T QAUTL |
D) 2QIQ 9@ @AQIq 91 (1@ QgIF AARAIR 90 FAUTS |

77.Should revolvers be supplied to the Excise field staff for better enforcement works?

A) Q86 ARRIRGI AIR 2LAIRT 688 FUSIRlg Aanae IR a8 &7

B) @26 691a% QIdY QI 2RRIA1 699 Ad0IRIg fenaa 6AIGIAR |

C) 2@ cLaeIdi dIR 297191 639G A0IIG GaNaa 686e 6ISITR?

D) 2R0a dQUCeRIdi JIR 2911 698 AASIRIg Gana 6AINIR S2IFe a5 &7

78.The Sub-Inspector of Excise is vested with power of entry, search, seizure and arrest under the NDPS
Act.

A) NEANQ RS AUIRER G694, G2 B AR QAR VAGI AT AFAARAG FLUAREN |
B) &JNQ 2RS 2A96R Q6AS, QUIRYIE I6° 260 AR FFIG! AIRQT AQ ARACAGAT G4
QRAUARE |
C) NEdYQ ARG IREA J6R4, 029, QUINUIT, ¥e° 2I6A8 FARIR AT 2FRUIAT A9 AFACALEFOIR
MG AT |
D) 1&TNQ 2IRQ 2ARAIFEQ G694, 9rY, UINIT 8 ACRR FARIQ FAG! AR ARAARAT 2AdE
QARG |
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79.In 2006 a number of persons died in Ganjam district due to consumption of spurious country liquor.

A) 9009 AJLIER FSIF FRIEQ AAM FEQFAQ HIR AR EM@ QI FASI A6 |

B) gI¢ GRISA FIGR A2 HIR 9 009 AJLER UKD CRAIR SIFS 626M |

C) SIEIC GRICQ GAM CQFINQ CRAIRARR UCAR CRAIRET Q1 6QARYMI |

D) 9 009 ¢12I6Q FEIF GRIEQ AR 6Q4IFIQ 6AIGAR AR ENR (G IR FEM |

80.Cultivation of hemp plant causes health hazard for man.
A) 624 GI4 OIS AESAAINa ANIE FAQ GERER |
B) &3¢ QIF A1IGSQ YR FAR ASIRQ |

C) q68@ G198 16d YIS FAQ ATIRAN |
D) Qlef Q4929 N6I8Q YIFQ R R0 AT |

SECTION-C
General Knowledge on Excise Matters

81.Read the following statements and choose the most appropriate of the four answers
given below as A), B), C) & D).

“Intoxicant” means a substance such as alcohol-

1 which produces a feeling of pleasure and happiness

2. which creates excitement and lack of control

3 which when consumed induces a feeling of excitement

4. which when consumed induces lack of self-control

A) Only statement-1 is correct B) Only statement-2 is correct
C) Statements-1 & 3 are correct D) Statements-3 & 4 are correct

FORYe QIRNGEe 1eJeRIER dag Ye° §¢ gea A, B, C 8 D QIe6q JRIAIRYRI SI6AIS aeQ A
6296 AgQ A0R Q12! 029G |

“QNER 9" Q 28 6208 719 OF 9@ Y-

Q| QIgl gd 6 ARLN IR AFAQ FITQE R6Q |

91 QIg RERERI 8 FOREa 2N IFR6Q |

Q| ALY 6AIRAEN AEASRIQ AGAS JARER |

¥ 1 QI9l 6A9RR6M FARER AN JARER | .

@) 6297 ¢ YA QMG O §) 6297 9 AFQ AMG O«
Q) € B N e QY OR Q) N 6 ¥ A A O
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82. Read the following statements and choose the most appropriate of the four answers given below as A),
B),C) & D).

“Alcohol” means-

1. acolourless liquid found in drinks like beer and wine etc

2. acolourless liquid used as solvent

3. acolourless liquid used in preparation of medicines

4. a colourless liquid used in manufacture of cleaning products

A) Statements-1 to 4 are correct " B) Only statements-1, 3 & 4 are correct
C) Only statements-1 & 3 are correct D) None of the Statements is correct

Q6QI8 ANMGTR Aeg Ne° O 967 GRS ]), §), 9) 6 Q) 86 FI6RIT 998 RIQ A0 AR AART
Q=g |
‘D" Q 2el 62R8-

Rl F2Q 6610 @R AINN6R 28I NQ QIR Gam A |

9196 YR IILE 62 U@ AFLIR GaR AU |

N1 B8 JYE6Q QIQLE 6292R IR AEILIR GaR AQId |

¥1A6TR QY IYTEQ QLG 62R2R! IR AFLIR GaR A |

@) R QY A AN OR ¥) 6@ , N B ¥ 9 QY O@
d) 68QR € B N 7Q AN O 9) QINYLRQ 6T ORgee
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83. Read the following statements and choose the most appropriate of the four answers given below as
A), B), C) & D).

“Liquor” means an intoxicating drink which includes
1. wine, Beer, Tari and Pachwai

2. spirits of wine, rectified spirit, plain spirit made from materials recognized as country spirit base
3. fermented liquor made from Molasses
4

every liquor containing alcohol and any other intoxicating substance which the state Govt. may
by notification declare to be liquor

A) Only statements-1 & 3 are correct B) Only statements-1, 3 & 4 are correct
C) Statements-1 to 4 are correct D) None of the Statements is correct

G618 ARIGER Teg 1Q° OF 867 TALIRSRI ), §), ©) 8 V) 9@ VAT AR\ FUQ AFQ A0% AAQG
Qgg |
AR’ 6298 1@ AR ARG OT6Q ABLS-

el Q@ J2e, R B dlRgIR |

91 eade 306, 2°6aINe GRS, 6941 FATR ARIA VES 086 §LIQ I ARIAS JAE' |

Nl 6QIRIEAT Q BUR TAETERS AXQ |

¥1 54I9Q1 9694R MeR 9° ARy 6x1Id A6aee Q4 KILl AR AARIA SRR FRINEA ARAEAR
6V RQAURES |

Q) 6297 € B N @a QIR O ) 689%R €, N 6 ¥ Fga Qa4 O
q) e Q¥ g ey 09 Q) QIigeeq 6Aleds Oagew
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- 84.Read the following statements and choose the most appropriate of the four answers given below as
A),B),C) & D). .

“IMFL” means

International Monetary Fund Ltd.

Indian Metal and Ferroalloys Ltd.

India Made Foreign Liquor produced, manufactured or compounded in India

India Made Foreign Liquor made in colour and flavour resembling Gin, Brandy, Whisky or Rum
imported from foreign country into India.

Hwrp -

A) Only statement-1 is correct B) Only statement-2 is correct

C) Only statements-3 & 4 are correct D) None of the Statements is correct

Q618 ARIYER UL I9° oI 067 QARSI @), 9), 6) 6 Q) 9F AT AAA IR A0 A0R RAAT

Qleg |
“IMFL” Q &€l 6298 -

0l 22R0R g ad A |

91 QIQGTEL, AIP NQ° ETERANIRNA R |

0Nl VA6 AYITS, Yo @)l FFe QNS G2IR §6941 Aaa |

¥1 36999 NIQSY AIFRIN1 62028l IR, 18, @ A9l QAR AF 8 IR AIQE A9 SR Fead1

feq |
@) 6997 € FIQ IRy O ¢l) 609% 9 AYQ QU O
Q) 6R9R N B ¥ ¢Q Qay O@ Q) ANYERQ 61EdT Onges

85. What quantity of ‘Beer’ can a man possess without obtaining license?

A) 5 litres B) 3 litres C) 1 litre D) Nil
Q1 AATAGER F641 Q4@ 666 AATNER ‘TR’ FRAITEa QAL |

Q) 8 A §) N AR d) € Ao Q) g
86. What is the full form of “N.D.P.S.”?

A) National Drugs Prevention Society  B) National Disaster Prevention Scheme

C) National Defence Products Services D) National Drugs & Psychotropic Substance
“NeD.P.S.” @ Q21 @4l @€ 2

@) National Drugs Prevention Society =~ &) National Disaster Prevention Scheme
o) National Defence Products Services @) National Drugs & Psychotropic Substance

87. What quantity of ‘Ganja’ can a man possess without obtaining license?

A) 500 grams B) 300 grams C) 100 grams D) Nil

Q1 AGATAGER @64l Q43 6966 AR “F6ER” FRAIER QYAIRES |

@) 800 gial &) Moo glicy ql) koo glict Q) ga

Page 19 of 28



88. Read the following statements and choose the most appropriate of the four answers given below as
A), B), C) & D). '

“Molasses” means

1. acandy prepared from ‘sugar’.
A candy prepared from ‘sugar’ or ‘gur’.

3. aheavy dark coloured residual syrup drained away in the final stage of the manufacture of
‘gur’. ‘

4. aheavy dark coloured residual syrup drained away in the final stage of the manufacture of
sugar, in solution or suspension, which can be fermented.

A) Only statement-1 is correct B) Only statements-3 & 4 are correct

C) Only statements-1 & 2 are correct D) None of the Statements is correct
F65I8 QINIFER Aeg NG° O 967 FAQAIRYSI @), &), 9) 8 @) AF GIEAIT e AR AFQ a0
RRQG QUG |

“Molasses” Q 28] 628 —

R. GRQ GAUR e gala F0I |
9. 58 @ql geg SaIR e gela oI |
. go GRIGa 659 a6 A4S KIRYRI GIRl ARINEIR e Sar ACETI] |

. 33 B2IGQ 699 A6 SIS AR 8 &)l RS AQWIER R AR FRIQAETR V@ PR
2R64AIQ AIIg YRR} SAUARAAIAR |

X 3

Q) 6299 ¢ QYR QIeY 0L ) 6299 NGB ¥ FQ Y O
Q) 6897 © B 9 AQQ QIeY OR Q) QIRGLeQ 6T Oagee
89. What is the full form of O.S.B.C.?

A) Odisha State Backward Caste Corporation  B) Odisha State Blindness Corps
C) Odisha State Beverages Corporation D) None of the above

“0.S.B.C.” @ Q¢4 Qdal @4 ?

®) Odisha State Backward Caste Corporation &) Odisha State Blindness Corps
@) Odisha State Beverages Corporation Q) QIRIGERQ 6REAG OageL

90. What is the license period of wine shop?

A) 1 June to 31* May B) 1% October to 31 September -
C) 1% April to 31% March D) None of the above

ReQIRIe ?,IQQ@GQQ 2R K1 ?

R) G8 € FIANUQ 661 N BIAS %) 26RQRR € FINWQ 646QQ N GG
Q) YGA © GIREQ IS Ne FIA Q) QINYERQ 6RNAT Oagee
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91. What is the license period for sale and procurement of “mohua” flower’?
A) 1% August to 31% July B) 1* November to 31% October
C) 1* April to 31* March D) 1% January to 31% December
AgR I 99 I Qg0 AR AGAGAGR AR Q4 ?

@) AT @ GIRGIQ GRIR N FIAY §) R6RLQ ¢ GIATQ ACYIQ Ne FIA
d) M € SRR IS Ne IR d) QIR R CIRGIQ T6ATR Ne IR |

92. What is the permissible sales hour of excise materials?

A) 10.30 AM to 10.30 PM daily except 2™ October of the year
B) 08.00 AM to 08.00 PM daily except 14™ November of the year
C) 09.00 AM to 09.00 PM daily except 15 August of the year
D) 09.30 AM to 09.30 PM daily except 26™ January of the year

2AQAIRN 9RIQ AQATEAISH TR AT R4l ?

@) UYRR 9 SR GTe TR Y6S4R @@ YAl € 0.NoQ ATAIF € 0. Mo AMNS |
) 6Q9Q 0¥ GIAY QY616 QIR 6SIR @9 I of .00Q AAQIE o .00 AMS |
dl) 2CW RS GIAY RYG1C AFR GERUR TR GFIZ 0¢.00Q AARIZ 0 ¢.00 AS |

Q) IFAUAT 99 GRS Q616 QTR G6SIR @7 LI 0. NoQ AAIZ o ¢ Mo ANS |

93. Where is “IMFL” manufactured?

A) in the distilleries and bottling units B) in foreign countries C) in Patna D) in Panaji

“IMFL” 62Q0169 8218 @I |

@) CACARR I QONG 609 AIFER  H) F6QE6EQ ) AITEIOIER Q) AL

94. Where is ‘Beer’ manufactured?

A) inbreweries  B) in European countries ~ C) in the state of Maharastra D) in Goa

“ Beer’ 6900168 3210 QAU |

Q) 964Q AIRFER §) YERIAIC CREAINFTER  Jl) ATIAUY QINIEA &) CEIIZIOIER
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95. Read the following statements and choose the most appropriate of the four answers given below as

96.

97.

98. Excise Department of Government of Odisha was a part of which Department prior to its creation?

A), B), C) & D).
“Dry Day” means

1. the day, when there is no sale of any kind of liquor

2. the 2™ October, the day of Gandhi Jayanti

3. 48 hours preceding the day of poll as declared by the E.C.1

4, 48 hours preceding the day of counting as declared by the Election Commissioner of India.

A) Only statement-1 is correct B) Only statements-2 & 3 are correct
C) Only statements-2, 3 & 4 are correct D) All the Statements are correct

F6QI9 QIRIGEe A6 Y9° O 967 QLIRS ), ), §) 6 4) AR SI6AIT QA FYIQ AQQ A0
R@AG QARG |

“Dry Day” @ 2i¢] 6208 —

R. 698 06 699 G307 6516d gRIa AR 354 9IRIE |

9. 26QISQ 9 ST, GIN1 K01 R |

0. AAGIE BN *FAGaE FIQl 6AITS 6916 ged G9a 99 ¥ gl A7k |
¥. Q10616 A6196 @AAees 9161 60186 6aIc 666 Baq g ¥ Al Aek |

Q) 6997 ¢ FIQ QIR O §) 629R 9 B N YR AN O
Q) 6897 9, N B ¥ QY alay 0K Q) 9499 QRigee O
Where from do the retail shops purchase IMFL, Beer and CS Liquor?

A) from distilleries ~ B) from breweries C) from IMFL Depot D) from OSBC

Yoal 6QIRIAIENER 6290IQ IMFL, Beer ¥&° CS feq &4 ?

?) CTEAAR AR W) §64EQ IR 9) IMFL 69IQIAQ Q) OSBC 0IQ
When was the Excise Department of Government of Odisha created?

A) 2™ October, 1989 B) 1% December, 1999

C) 3 April, 2006 D) 25" June, 2009

(3341 AR ARIAT FRUF 699 GR0IQ Q& QAUIR ?

@) 1989 a1dQl 2RI 9 SIAS W) e e Adel @6 € P
g) 9009 QI I N SIS Q) 900¢ a2 GR 98 SIS

A) General Administration B) Forest & Excise
C) Revenue & Disaster Mitigation D) Revenue & Excise

(33461 ARRIAT ARG FAIF TR0IQ 9/ 6@ IR 699 FQAINR A°EREES il ?

Q) ARIRE gIIAR ¢) SRR NG° AT
9) QINY e° G gaFe @) QIRY N9° AR
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99. How many authorised Distilleries and Bottling Units are presently functioning in Odisha?

A) 47 B) 37 )17 D) None of these
3R4I6Q 671G 626015 O8 6AAR B QER° 67L AITIFQAR ?

@) ¥9 §) N9 g) 9 @) FIRE FUQ 6a18AE gew

100. Read the following statements and choose the most appropriate of the four answers given below as

101.

102.

A), B), C) & D).
Which of the following statements describe the actual functions of the Excise Department?

To control manufacture, distribution and sale of liquor through Government channel
To prohibit sale of spurious liquor

To mobilize additional resources for the Government of Odisha

To prevent illicit distillation and clandestine trade in non-duty paid liquor through
Excise Intelligence and Enforcement measures

AW

A) Only statement-1 B) Statements-1 & 2 C) Statements-1, 2 & 4 D) All the statements

Q698 QIRIYER GG NS° O 967 GUILIRYR! K@), &), T) B A1) V@ FI6AIT RQR FRIQ A0 A0SR
QRS Q83 |

TR A FIP 6996 AARIN FRTR FIYTR ARG IRE —

R. dQQIQ1 4Q FIRIFIEA MeQ SR, @ER ¥9° AgUq FARE @AQ! |

9. spurious liquor @ @99 738 QS |

q. 65491 AR IR ATAD ARG YL KR! |

¥. AQRIQT 69IRR1 9Q° QAR AIIFIER T3] QIR0 RGAR 6QXURS CIEAIAR I9° g IR
6@ |

@) 6Q9R € FQ ey OR §) 699R € B 9 AFQ IRy OF

d) 69Q%@ ?, 9,8 ¥ 27a QI OR @) 209 Rgee O

All excise samples are examined and tested by which of the following organisations of Government
of Odisha.

A) Regional Forensic Science Laboratory B) Odisha State Beverages Corporation :
C) National Drugs Control & Research Centre D) State Drugs Control & Research Laboratory

(3341 AR 699 AQVIRTIRI ALRIQT FFRIAG AT 8 S2Y SR |

@) Regional Forensic Science Laboratory &) Odisha State Beverages Corporation

o) National Drugs Control & Research Centre @) State Drugs Control & Research Laboratory
Who is the district level head of the Excise Department?

A) Collector B) Addl. District Magistrate
C) Deputy Superintendent of Excise D) Superintendent of Excise

ZRRIQ1 TRITRQ FRIYAIY B4 @ ?

@) SRR ¢) UGS FRIAIR  C) AARQT 68YC JURELERY  d) ARIQA YIRS
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103. Who is the Head of the Directorate of Excise?

A) Revenue Minister B) Revenue Secretary
C) Director Excise D) Excise Commissioner

2RRQT FELAIRAR Y @ ?

@) QARG 191 ¢) QUeg ASe q) 2AQRIQT FERER Q) 2RIQ1 KAIFQ
104. Where is the headquarters of Odisha State Beverages Corporation?

A) Cuttack B) Berhampur C) Bhubaneswar D) Sambalpur
3241 QIR Q@ FAFQ A FLGEN 69Q0I6R 2FE ?
Q) /6 ) 929Q ) 962499 Q) AR
105. How many Zones of Deputy Excise Commissioner are there in Odisha?
A) Two B) Three C) Four D) Eight
334I6Q 6R6SIT 6545 AR FIFR 6] 2T ?
@) 926 W) G6RIG Q) SI6QIG Q) 2o
106. What will you do as Excise Constable if you find somebody drunk and lying on the road?-

A) hand over him to police B) arrest and send him to jail

C) admit him to nearest hospital D) escort him to his home

QIER SIS FEIFS CART 6QFHEM FE64! ARRIQT FEAAVIR AU G671 @€l QAR ?
@) GIg 6AINAG 2R FAR §) 260V @R 6aM ACORRQ

Q) FRCRE LIBAIRIY AOIRR d) O Yq RELACAR
107. What is the base material for preparation of ‘Beer’?

A) Spirit B) Molasses ~ C) Mohua flower D) Malt

FAY YL ARIK A1 Q& ?

@) FQe 3) 6FIREaT Q) AgR gM Q) QIR
108. If you join as Excise Constable, your aim will be to-

A) drink good liquor B) work as per orders of authority
C) collect revenue D) prevent people from drinking wine

2PRNA AREQ 6LIFEEM PEIQ MY 62 —

Q) QA AR 6AFR QA d) 2YRQIEF 2ERE AR QA QAR
q) AR AL *QR! Q) 1@ JAQIQ ARG F9@ @RI
109. Hooch Tragedy-2006 occurred in which of the following districts?

A) Puri B) Ganjam C) Balasore D) Sundargarh
9009 T2l g6 QHCYI QB 69R GRIEQ ATYMI ?

@) g ) SlElel q) QeRIR Q) gRa9e
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110. Who is presently the Minister of Excise in Odisha?

A) Dr. Damodar Rout
C) Sri Lal Bihari Himrika

B) Sri Debi Prasad Mishra
D) None of them

BE9IQ QAR TARIQT AR &q ?

Q) 919Q QI6IGR QARG g) 41 6991 g §ig

qd) g1 AIReeR! Faae ) IR AIQ 6QF 28
111. “Tari” is the juice of-

A) Palm B) Banana C) Khajur D) Pinnaple

‘G5’ 46 QIR A1 @ gee - |

Q) FIRQ §) FRRIQ q) FgIQ Q) AYQIQ

112. Which organ of the human body is directly affected by consumption of liquor?
A) Liver B) Heart C) Lungs D) Eye
R RN IEE FR10Q 69% A LAY RIGS 4 ?
@) P ) eeds o) g9 CQ) gy
113. What is “Pachwai”?
A) Country liquor B) Foreign liquor C) Spirit D) Handia
AR’ QLG Q-

Q@) 6Q41 ¢1Q  4) Gean e 9) e Q) gl

114.”Pachwai” is made from?
A) Sugar B) Rice C) Wheat D) Gur
‘AIQYR” 699 FAIQ GG §9?
Q)o@ W) flaR q) geq a) ge
115.“Ganja” refers to-

A) atree B) acreeper C) a bush D) a plant
‘QEER” @ILlq QBN ?

@) 6915~ QX ¥) 6915 RSB Q) 691G Q@ ) 691G Qg
116. What is the base material of foreign liquor?

A) Comn B) Cashewnut C) Molasses D) Spirit
Q6N 1R ZRIKQ QY K8l ?

Q@) S §) QIGARICT Q) 6CIRIEN Q) Aae
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117.

118.

119.

120.

. What is the colour of “Opium”?

A) Black B) Green C) White D) Yellow
‘AT QEF K€ ?
@) @ §) A9 Q) 2l Q) exgl
What is the letter emblem on the monogram attached to the cap of the Excise Constable?
(A) OA B) OE C)OES D) EC

QRN RERARRE 651T6Q NI 6AILRGIFIR AVQ ACTS K17

@) OA o) OE o) OES Q) EC

What is the colour of Uniform of field staff of Excise Department?

A) Blue B) Navy Blue C) White D) Khaki
21QRIQ1 FRIC 698 AISIAIT GRUC @ QEf @4 ?

@) Q1R W) 66@ 19 Q) Q) IR

What statutory warning is written on liquor bottle?

A) Consumption of liquor is injurious to health
B) Consumption of liquor is not good for health
C) Consumption of liquor is good for health

D) Consumption of liquor is beneficial to health

609 G2JAFG AR ARA 6ACR AUER CAMIAIRAN ?

@) ARQ 6299 I IR VERRR
d) ARQ 6997 9IYY AR AR F6L
9) A 6984 Y IR AR

Q) Aeq 6997 Y IR AU
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